1. s WeAle] 55 e dste] 29 4 A=7H] e Al L,

12.7+5.4

=
=%






& AAZg el A2 ol B em 1A FoHA L.

_--9.54em- _

- ~

51,516cm’




cm

)
o
HH
o
,_.#mo
L

e

o] Wol7} 5.365cm> & ), ©]

K
T2

A 3

~=-37cm---"

-~ -

cm



Uet. 2 el



6.

43.9L O] FAF 0.84L5°]9] ol tiro] Hosil

Zol= & 7|7} Qlofof sH=A] AL,

a E-‘jl-: 7H

)

e,

3

rlo



A

7FE sy vr2Al A

2
3

FREY 12

O 315
= | °

— |

i of

2

.

ul



8.

9+0 = (@D+0) +(
T84 2.

5 J=X
=%

-©)°lzta



2E7b12 mt Q) ASWAZL e W 727 mol T Al

1
Hizmd o, ol % mAUA?

4 1 2
(Dlgm @1gm ® 2m @1gm @lgm



10. AEEe] E0lE oA L.

//3_m\\

Yo :11%1112

‘0

\\
~_ 3 -

=5y m-

1 1 1



